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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) {C) (B) (A) QUESTIONS Q-1
> L Cy g4 R P S
Muscles Adipose Cartilage Bone  |Larynx is a box made up of
Ury s & bhy¥ % = e Jﬂ Lo it d] 2
Brasica Lady finger Keeker Rubber Plant Latex is released by
7 i J"’a—d'-:’-' LJ:/’-‘(S’VJEL"C sl t'yrg}w(z}d»:’ 3
Hearing and Visual Controle of ) )
Fear smell information | sketetal muscle | 1€Mporal lobe is concerned with
oy 17 —_— s A I_-Ccef’tﬁ‘)"-:‘“id’"—-_-.” JJJ_ J| 4
Retina Fovea ‘. Ro ds\CeN_ ; ;E CIiE; :g; §?Ie to see during day time due to
A | s . ;ﬂfg— r . el ane 2o s
None Bone marrow | Compact bone Spongy oﬁe ﬁh f bone in which blood vessels are found
7 (i .l Axfﬁ." Like tnf(&-‘-c'f{;ég{-,(;;g B
Corm Rhizome Bulb Stem tuber |Vegetative propagation in onion is done by
o J G ¢ ce oo sy| 7
Root Flower Leaf Stem Reproductive part of plant is
s sy o e et L] 8
incomplete . ; . e .
dominant Co.dominant | Recessive Dominant | Albinism is a trait.
3700 28000 2800 2700 St f el JeridSum L | o
The no. of pea piants which Mendel used in
his experiments.
ABU wAlpedt | ik | sl <SSz Al 10
Both A B gg:;gs?tt: Endoparasite | Ectoparasite |Mosquitoes, lices and leaches are examples of
& B I I A Jeetsy o | 11
Zymogen Interferon Pepsinogen Insulin An example of Antiviral protein
u}fw ,w.s(u ifde R _u_rJuf..-,gurdl, eflicin]| 12
Analgesics Vaccines Sedatives Antibiotics | The medicines which reduce pain are called
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Answer briefly any Five parts from the followings:- 5x2=10 -g,_r.f;f:.uz;"’zim ék ;.ch.ufd_jtm -2

Differentiate between acute and chronic bronchitis. S L FOPSE S E ekt )
Write down any four symptoms of pneumonia. -qf_f;’;,w; e sl L iy
What do you mean by peritoneal dialysis? ‘e lpe A GE (i)
What is the difference between transpiration and guttation? e o/ L_fL,C w’fc:lu&ﬂ}g-ﬂ) {iv)
What i's the process of lithotripsy? e VK3 Ve Ku'r’/‘;;‘f v)
Define stimuli. Also give example. K i St L,gf.g}JJu,é’ (vi)
Define coordination. Also write the names of its two types. -aﬁ(t L ru"i » L,ﬁuiuj/_.y/‘?d’di-;d 7 {vii)
Why iodine is essential for us? S Unfud docosa 34 T (viii)

Answer briefly any Five parts from the followings: §x2=10 -f/zfel2 L1718 e Me L dibn -3
Describe the Role of Skeletal System. REAE WL foadl
Define Reproduction. RS APl Define Origin and Insertion- 2 it 7§ /st (i)
Define vegetative propagation. _”_é i /U u’:‘c—':{:‘f J:’: (iv)
Differentiate between sporophyte and gametophyte generation. ..’cfg 5 bJjt g/"- AL ﬁ"::f..*.f’ Baime (V)
Define transiation. 5w P A i) Define genetics. S S (i)
What do you mean by Incomplete dominance. SELV TN L e ,SJ;t (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -p[f(fa&’.ﬂ/"?ﬁlzt éi‘ c-_.ch.gﬁJ_ibn A4
Differentiate between ectoparasites and endoparasites. O Pk ’Vwesi:;lzs!uj'llzi,&}.‘:/ (i)
What is meant by commensalism. —elre r:"-’ oY i)
What is single cell protein. e Vb S (i)
What is urokinase? Write its use. LIS i s, (V)
Write the names of two industrial products made through fermentation. el rt&u”/}!{ &,}‘;J Ll bl ke u’i}'}’ (v)
What is meant by pharmaceutical drug. e ety Far 6 (vi)
What are anaigesics. Give example. Sy l,ﬂ/c"p&J vii)
Differentiate between antibiotics and antiseptics. -é O/l uj;" J.’-I ;,l‘ff,f gd;-l {viii)

Part II [ -

Note: Attempt any two questions. 9x2=18 I felz L ctrne. & s
(a) How many types of Bronchitis? Describe in detail. A5 -u.‘g.—;. L}:"’ fe. Krﬁljf Sz 05
(b) Write parts of internal ear? How the process of Hearing takes place? A4 S bn < S _ufdrtﬁu:"ﬁ g et (&)
(a) Write a note on types of joints. Also give their examples. A‘.'S w3 dt‘z Juusl_u:"g_bﬁ_{ 1% Jlf’?i 0)-6
(b) Describe four ways of natural vegetative propagation. A4 gl pl u’-‘é m’*’ Ebs ()
(a) What is Pollution? Explain effects of air poliution. A5 g Sernleinl $1din e Ve L7 07
(b) Give Achievements of Genetic Engineering. A4 NI Ry P .f/ﬁf S (L)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
! fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
' will result in zero mark in that question. Write PAPER CODE, which Is printed on this question paper, on the both

sides of the Answer Shee! and fill bubbles accordingly, otherwise the student will be responsibie for the situation.
Use of ink remover or white correcting fluid is not aliowed

(D) {C) (B) {A) QUESTIONS Q-1
A 3t =y Adu £ e P 26 L S|
Endonuciease Lipase Amylase Ligase The enzyme which is used to cut the gene of inferest is
g Uy o 57 | by Usisbale | oy Ut ot | g s Ui i | <SS o
Yellow Black flowered Orange Purple Foxglove is a
flowered plant plant flowered plant | flowered plant
.57 31 =31 duz 31 ¢ 31 e thlvaifiiindis| 3
J::nSL:;rfy 31st of August| 31stof July 31st of May E:lzgr;?eadr’c::e véand NoiFopaccoay 15
oY st Jo s V.9 The tube - (L ¥Ston L stbijmy ses) | 4
Nephron Renal tubule Ureter Jpetween Kidney and Urinary bladder is
. 5T Sz s e urSmi 3| 5
Temporal Occipital Parietal T % ’ﬁbe co edlifvith hearing and smell
Y2397 Bl S I JE l;. Ll _u);’__a,,uz ] 6
ﬁiﬁﬁzﬂ? lodopsin Rhodopsin ?{quu;gﬁﬁ Rods contain a pigment
12 08 206 24 eI ugh ST 7
Numbers of Cranial bones are
i 4 p s 'S e JedUALni Sgtdge sl air| 8
Rose Willow Hazel Grass An example of insect pollinated flower is
A # Crul € ¢ et oIl A 9
Sepals Petals Androecium Gyhoecium The female reproductive part of fiower is
rr},/ o P N, L Lok P Livt LU onf DNA| 10
Chromosome Gene Alleles Traits .‘ - b T 2gtA
The part of DNA that contains the instructions for
the synthesis of a particular protein is known as
i Ty 18 A s ﬁ;meé_l,_B.,,f;l. 1
Person with blood group B has genotype.
Esrn o £z A ceJed | 12
Plasmodium Lice Leech Mosquitoes |An example of endoparasite is
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Answer briefly any Five parts from the followings:- 5x2=10 -Q,Qf.-,uz/"?&z: é,g ;ch_ptd_‘j on -2

What is Pneumonia? Write its symptoms.
Write function of Hair and Mucous in the nose.

Define osmosis.

What is the role of skin in controlling temperature of body?

How do the plants excrete extra water from their bodies?
Describe the Pupil reflex in dim and bright light.
Why owl is not abie to see during day time?

Write name of two disorder of eye.

- fewdie v )

Ut L)’ﬂy’/g;,@g LS i)

“E AU (i)

e SRS I e tronl L6k (iv)
LSl dt b C/"(a ()‘é-'f-»,’ (v}

-k Jo KUt L?Jf,}:“u' U= (vi)
?lfef;ufu;f;isé s S (vii}

e L Fn £ T i

Answer briefly any Five parts from t_he followings:- 5x2=10 -L{)}faylﬁ/ﬂf_ IZ1 ék «:.ch:-uf J_'j r -3

What are hinge joints? Write two examples.
Differentiate between biceps and triceps Muscles.
Define parthenogenesis. Write two examples.

Define alternation of generation in plants.

Define Multiple fission and give an example.

Define Transcription.

Differentiate between Dominant and Recessive Aliele.

What is meant by Artificial Slection.

Answer briefly any Five parts from the followings:-

Define species. -

What are decomposers give example.

Define biotechnology.
‘What is meant by novel protein or minifood.

What is the full name of GMO.

What is a drug.

Write some medicine obtained from plant and fungi.
Which organ is affected by the use of expired medicine.

Part Il

Note: Attempt any two questions.
(a) Describe the functioning of Kidney.

(b} Explain Nerve cell or Neuron with diagram.

E sy P2 E 6

.= & SA P o S oG Gi)
e E P e (il

- PSR ASTS T Uny (iv)
L wE AL W)
AL i)

~EE ULO/L Sl sl wah} (i)

el Ue gt Sy (i)
5x2=10 /2 fel2 LIz &) e e L Sits -4
JIAZE 0

~LsJeu Vit Sl i

B (i)
e 33 L Uit (iv)

< F¥ GMO (v)

PRVEANT)
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(a) Write a note on the role of biceps and triceps muscles. /5 u:/'}f:,){ AL gy uesem (15 2 yoprner Sl (-6

(b) Explain female reproductive system of rabbit.

(a) Define symbiosis and also describe different types
of symbiosis with examples.

- {b) Write a note on alcoholic and lactic acid fermentation.
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